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5-4. HIAE R E

A DS EAE Ao ZHEE2{9} GIZE FH|E

[ 225t HAESIHMAIQ.
1) Enter7|& H&OZ 45| SELICH
HAE D= 2) Menu 3tHO|A Device TestS MEH
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)
4) u 712 4% A 3 o™ HHAE SHYLICL

5-4-1. EEM Q=G =0l RE
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7. A dlojg| Zof

7-1. 2% HE(AE™RE)
7-1-1. o 1 (ZH| HS e HEl) - 18 byte
Data Byte
Header 1 Header 2 7 'E'«f‘e Unit
HA o /A LA A A
71/
=2 L

Headerl (2Byte)

ol M

F H| Q%

[ )

Header2 (2Byte)

NT:NET-WEIGHT(87|E # & 3%
GS:GROSS-WEIGHT(87] ©F Al 87| RHE Zedot & )

Sign (1Btye)

= H=
FHO B

Weight Data (7Byte)

UNIT (2Byte)

CR (1byte) Carriage Return
LF (1byte) Line Feed
ofl ASCII : ST,NT,+0000.00kg CR LF

HEX : 53h 54h 2Ch 4Eh 54h 2Ch 2Bh 30h 30h 30h 30h 2Eh 30h
30h 6Bh 67h 0Dh 0Ah
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7-1-2. XS 2 (BH| M TS - 21 byte

; Data Byte
ID Number Header 1 Header 2 7 Ryte Unit
L1 B i /aRn e
T LHE
ID Number (2Byte) | Hz
Headerl (2Byte) OL: X|CH EA| =2 X3t
ST: T o
Us: &2 H| ¢Hg
Header2 (2Byte) NT: NET-WEIGHT(E7|2 & &
GS:GROSS-WEIGHT(&7] #%F Al 87| RAE Zget & 5)
Sign (1Btye) SO B2
Weight Data (7Byte) S HA
UNIT (2Byte) u L
e |
ton- D t
CR (1byte) Carriage Return
LF (1byte) Line Feed
ofl ASCII : 01,ST,NT,+0000.00kg CR LF
HEX :30h 31h 2Ch 53h 54h 2Ch 4Eh 54h 2Ch 2Bh 30h 30h 30h
30h 2Eh 30h 30h 6Bh 67h ODh 0OAh
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7-1-3. o 3 (&H| Mz I - 17 byte

Data Byte

7 byte Decimal
STX ID NumpHeader 1 Header 2ite 2 I Point ETX
02h e |+ / / mpr 03h
T2 HE
STX (1Byte) Start of Text
ID Number (2Byte) HH| Hz
Headerl (1Byte) O: %t EA| 5% =1t
S: 3% ot
U: 2 H| ot
Header2 (1Byte) N:NET-WEIGHT(E7|E i & &
G:GROSS-WEIGHT(&7] 8 Al 87| RHE Z&et & )
“W” (1Byte) S HA 72 EX

Sign (1Btye)

oft
10
il
ok

Weight Data (7Byte)

B> | o | O
o
HH
Rl

“P” (1Byte) = HAl 22 X
Decimal Point (1Byte) | 248 X514 HA|
ETX (1Byte) End of Text
of ASCIl : STX 01SNW+0000000P2 ETX

HEX: 02h 30h 31h 53h 4Eh 57h 2Bh 30h 30h 30h 30h 30h 30h
30h 50h 32h 03h
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7-1-4. o 4 (FH| Hs ZE) - 22 byte

Data Byte
ID 8 b
Header 1 Header 2  Number J;{te Space Unit

.1/ ko [or]er
1!

Lamp
Display
A g
Headerl (2Byte) OL: X|CH HEA| 3% =3t
ST: 3% ot
UsS: & H| otd
Header2 (2Byte) NT : NET-WEIGHT(87|2 i & &2

=
GS:GROSS-WEIGHT(E7| 2F Al 87| RHE Zgst & 5)

ID Number (1Byte) | Hz

Lamp Display (1Byte) | ZH| T HA|

Weight Data (8Byte) | £=E Zgtt 2 HA| (R== U EAl)

UNIT (2Byte) kg : kg
g+ 8
t:ton
CR (1byte) Carriage Return
LF (1byte) Line Feed
ofl ASCII : STNT,.?_,._,.,..0.12 kg CRLF

HEX: 53h 54h 2Ch 4Eh 54h 2Ch 01h E1h 2Ch 20h 20h 20h 20h 30h
2Eh 31h 32h 20h 6Bh 67h 0Dh 0Ah

MDA BAl A

Bit7 Bit6 Bit5 Bit4 Bit 3 Bit 2 Bit1 Bit0
1 ot 1 gc | maE | a3y | 87 | @
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7-1-5. B0 5 (& o mEZ BE3Y s, AAHZE Al Ag) - 15 byte

Data Byte
STX Part Number Header 7 ﬁ“{ te unit  ETX
02h N | FI / / k | g |03n
T LHE
STX (1Byte) Start of Text
Part Number (2Byte) | &
Headerl (1Byte) N: IHZo| glg 2%
U: O/
P: B
O: gk
Sign (1Btye) SO B2
Weight Data (7Byte) S HEA
UNIT (2Byte) kg : kg
g 8
t:ton
ETX (1Byte) End of Text
ol ASCII : STX01N+0000.00kg ETX
HEX : 02h 30h 31h 4Eh 2Bh 30h 30h 30h 30h 2Eh 30h 30h 6Bh 67h
03h
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o
2h(STX)2 AIZFsiA 03h(ETX)22 ZLt= Clo|EZE 7|Z22 06h (ACK)St

7-2-1. 7|2 E

I_IH F(E*l KEF)

S4| : STX(1) ID(2) RCWT(4) ETX(1)

&AM | ASCII: STX OIRCWT ETX °
HEX : 02h 30h 31h 52h 43h 57h 54h 03h oyte
&AL STX(1) ID(2) RCWT(4) Statel(1) State 2(1) P(1) 24 (1) £=(1)
1B AU(6) SHEHRI(2) ETX(1) .
ASCII : STX 01IRCWTSNP2+001234kg ETX Byt
2t | HEX : 02h 30h 31h 52h 43h 57h 54h 53h 4Eh 50h 32h 2Bh 30h 30h 31h 32h 33h
34h 6Bh 67h 03h
State 1: O(Z|CH EA[ZZ X3t), S(B2Ft M), U(S L HI2HE)
State 2: N(A5 %), G(Z5Y)
S ST(UHE 7[<)
&4l STX(1) ID(2) RCWD(4) ETX(1)
&A1 | ASCII: STX 0O1RCWD ETX °
HEX : 02h 30h 31h 52h 43h 57h 44h 03h oyt
AL STX(1) ID(2) RCWD(4) P(1) 2% *(1) HH(6) AlZHE) BH(2) AZ=(6)
23(1) 8715%(6) F=(1) ASHAU(6) STHRI(2) ETX(1)
oo, | ASCII:STX0IRCWDP217110112303501012345+012345+012345kg ETX 46
HEX : 02h 30h 31h 52h 43h 57h 44h 50h 32h 31h 37h 31h 31h 30h 31h 31h 32h | Byte
33h 30h 33h 35h 30h 31h 30h 31h 32h 33h 34h 35h 2Bh 30h 31h 32h 33h
34h 35h 2Bh 30h 31h 32h 33h 34h 35h 6Bh 67h 03h
A7
$41 1 STX(1) ID(2) RSUB(4) ETX(1) .
&A1 | ASCII: STX 01RSUB ETX
HEX : 02h 30h 31h 52h 53h 55h 42h 03h byt
HAl : STX(1) ID(2) RSUB(4) P(1) a=T(1) SH(2) 2AS(6) 2AFE(10)
SETHR((2) ETX(1) 20
2t | ASCII: STX01RSUBP2010123450123456789kg ETX Byte

HEX : 02h 30h 31h 52h 53h 55h 42h 50h 32h 30h 31h 30h 31h 32h 33h 34h 35h
30h 31h 32h 33h 34h 35h 36h 37h 38h 39h 6Bh 67h 03h
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Opt
p-

(o3

44 : STX(1) ID(2) RGRD(4) ETX(1)

0!

HEX: 02h 30h 31h 52h 44h 41h 54h 31h 37h 31h 31h 30h 31h 03h

8
&4l | ASCII: STX01RGRD ETX
byte
HEX :02h 30h 31h 52h 47h 52h 44h 03h
oAl 1 STX(1) ID(2) RGRD(4) P(1) 2H(1) BAI=l(6) SAZSZ(10)
SETH(2) ETX(1) -
SE | ASCIl: STX01RGRDP20123450123456789kg ETX b
te
HEX: 02h 30h 31h 52h 47h 52h 44h 50h 32h 30h 31h 32h 33h 34h 35h 30h 31h g
32h 33h 34h 35h 36h 37h 38h 39h 6Bh 67h 03h
aA =
Al 1 STX(1) ID(2) RSNO(4) ETX(1) g
&4l | ASCII: STX01RSNO ETX
Byte
HEX : 02h 30h 31h 52h 53h 4Eh 4Fh 03h
A4 1 STX(1) ID(2) RSNO(4) 2A|1=l4=(6) ETX(1) 14
SE | ASCIl: STX01RSNO012345 ETX 5
yte
HEX:02h 30h 31h 52h 53h 4Eh 4Fh 30h 31h 32h 33h 34h 35h 03h
G AlZE
Al 1 STX(1) ID(2) RTIM(4) ETX(1) o
&4l | ASCII: STXO01RTIM ETX
Byte
HEX:02h 30h 31h 52h 54h 49h 4Dh 03h
&Al :STX(1) ID(2) RTIM(4) SXHAIZH6) ETX(1) y
SE | ASCII: STX01RTIM123035 ETX 5
yte
HEX:02h 30h 31h 52h 54h 49h 4Dh 31h 32h 33h 30h 33h 35h 03h
LU=y
A STX(1) ID(2) RDAT(4) ETX(1) g
&4l | ASCII: STX O1RDAT ETX
Byte
HEX:02h 30h 31h 52h 44h 41h 54h 03h
4] 1 STX(1) ID(2) RDAT(4) SAXiE™t(6) ETX(1) 14
8E | ASCIl: STX01RDAT171101 ETX
Byte
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87| 4% %

(o3

14 1 STX(1) ID(2) RTAR(4) ETX(1)

0!

HEX : 02h 30h 31h 52h 53h 50h 32h 50h 32h 30h 31h 32h 33h 34h 35h 03h

8
&2 | ASCII: STXO1RTAR ETX
Byte
HEX :02h 30h 31h 52h 54h 41h 52h 03h
Y4 1 STX(1) ID(2) RTAR(4) P(1) 2H(1) B=(1) 87I5%(6) ETX(1) .
2% | ASCII: STX 01RTARP2+012345 ETX .
te
HEX : 02h 30h 31h 52h 54h 41h 52h 50h 32h 2Bh 30h 31h 32h 33h 34h 35h 03h d
Sn S
&A1 STX(1) ID(2) RPNO(4) ETX(1) g
&4 | ASCII: STX01RPNO ETX
Byte
HEX : 02h 30h 31h 52h 50h 4Eh 4Fh 03h
&4l STX(1) ID(2) RPNO(4) E(2) ETX(1) L
¢ | ASCII: STX01IRPNOOL ETX .
yte
HEX : 02h 30h 31h 52h 50h 4Eh 4Fh 30h 31h 03h
A 2= 2t
&4l STX(1) ID(2) RFIN(4) ETX(1) g
&A1 | ASCII: STXO1RFIN ETX
Byte
HEX : 02h 30h 31h 52h 46h 49h 4Eh 03h
4] D STX(1) ID(2) RFIN(4) P(1) A (1) B=(1) AZA=22L(6) ETX(1) .
2% | ASCII: STX 01RFINP2+012345 ETX o
te
HEX : 02h 30h 31h 52h 46h 49h 4Eh 50h 32h 2Bh 30h 31h 32h 33h 34h 35h 03h d
SP1 MHZ}
&AL STX(1) ID(2) RSP1(4) ETX(1) g
&4 | ASCII: STX01RSP1 ETX
Byte
HEX : 02h 30h 31h 52h 53h 50h 31h 03h
&4l STX(1) ID(2) RSP1(4) P(1) A4=F (1) SP1EXZL(6) ETX(1) L6
8% | ASCII: STX01RSP1P2012345 ETX 5
yte
HEX : 02h 30h 31h 52h 53h 50h 31h 50h 32h 30h 31h 32h 33h 34h 35h 03h
SP2 MAZL
&AL STX(1) ID(2) RSP2(4) ETX(1) g
&4 | ASCII: STX01RSP2 ETX
Byte
HEX : 02h 30h 31h 52h 53h 50h 32h 03h
&AL STX(1) ID(2) RSP2(4) P(1) A%=F (1) SP2MXZL(6) ETX(1) 6
2% | ASCII: STX01RSP2P2012345 ETX
Byte
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SP3 ¥

(o3

44| STX(1) ID(2) RSP3(4) ETX(1)

0!

HEX: 02h 30h 31h 52h 53h 50h 41h 50h 32h 30h 31h 32h 33h 34h 35h 30h 31h
32h 33h 34h 35h 30h 31h 32h 33h 34h 35h 30h 31h 32h 33h 34h 35h 03h

8
£ Al | ASCII: STX 01RSP3 ETX
Byte
HEX : 02h 30h 31h 52h 53h 50h 33h 03h
&AL STX(1) ID(2) RSP3(4) P(1) A4 (1) SP3AXZL(6) ETX(1) L6
2% | ASCIl: STX01RSP3P2012345 ETX .
te
HEX : 02h 30h 31h 52h 53h 50h 33h 50h 32h 30h 31h 32h 33h 34h 35h 03h Y
SP4 MHEZt
&AL STX(1) ID(2) RSP4(4) ETX(1) g
£ Al | ASCII: STX 01RSP4 ETX
Byte
HEX : 02h 30h 31h 52h 53h 50h 34h 03h
&AL STX(1) ID(2) RSP4(4) P(1) 24X (1) SP4AMHZL(6) ETX(1) L6
2%t | ASCIl: STX01RSP4P2012345 ETX .
yte
HEX : 02h 30h 31h 52h 53h 50h 34h 50h 32h 30h 31h 32h 33h 34h 35h 03h
s Z2F INPUT, OUTPUT
&4l STX(1) ID(2) RWRS(4) ETX(1) g
£ Al | ASCII: STX01RWRS ETX
Byte
HEX : 02h 30h 31h 52h 57h 52h 53h 03h
Al STX(1) ID(2) RWRS(4) P(1) 23H(1) B=(1) sxiE2H6) 2AEUA(6)
2o|==(7) ETX(1) 20
2% | ASCIl: STX01RWRSP2+0123450000001111010 ETX .
te
HEX : 02h 30h 31h 52h 57h 52h 53h 50h 32h 2Bh 30h 31h 32h 33h 34h 35h 30h Y
30h 30h 30h 30h 30h 31h 31h 31h 31h 30h 31h 30h 03h
SP1, SP2, SP3, SP4 MXZt
&AL STX(1) ID(2) RSPA(4) ETX(1) g
£l | ASCII: STX01RSPA ETX
Byte
HEX : 02h 30h 31h 52h 53h 50h 41h 03h
&4l STX(1) ID(2) RSPA(4) P(1) A4=F (1) SP1AXZL(6) SP2HZH(6)
SP3MEZH(6) SPAMTZL(6) ETX(1) »
2% | ASCIl: STX01RSPAP2012345012345012345012345 ETX -
yie
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7-2-2. AJ|RE

HH2E FHol

0: olzigts 1: H3Y ol

2: 2AlH0]E Zo| oy 3: FAC|olE #Hel o2

4. M7|13X of2{(&F & M7| 2X])

A% 4%

&AL STX(1) ID(2) WZER(4) ETX(1)
&A1 | ASCII : STXO1WZER ETX °
HEX : 02h 30h 31h 57h 5Ah 45h 52h 03h oyt
&A1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
X4 | ASCII: STX 01 ACK 0 ETX
e HEX : 02h 30h 31h 06h 30h 03h 6
A1 STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
Q& | ASCII: STX 01 NAK 2 ETX
HEX : 02h 30h 31h 15h 32h 03h
87| 4%
&4l STX(1) ID(2) WTAR(4) ETX(1)
&AM | ASCII: STXOIWTAR ETX Bjte
HEX : 02h 30h 31h 57h 54h 41h 52h 03h
&AL STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
M4 | ASCII: STX 01 ACK 0 ETX
e HEX : 02h 30h 31h 06h 30h 03h 6
AL STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
RF | ASCII: STX 01 NAK 2 ETX
HEX : 02h 30h 31h 15h 32h 03h
7| s
&4 STX(1) ID(2) WTRS(4) ETX(1) g
&A1 | ASCII: STXOIWTRS ETX Byte
HEX : 02h 30h 31h 57h 54h 52h 53h 03h
&AL STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
4 | ASCII: STX 01 ACK 0 ETX
oo HEX : 02h 30h 31h 06h 30h 03h 6
= AL STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
Q3 | ASCII: STX 01 NAK 2 ETX
HEX : 02h 30h 31h 15h 32h 03h
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Mot

cE 43

(o3

44 : STX(1) ID(2) WHOL(4) ETX(1)

0!

2F | ASCII: STX01 NAK 2 ETX
HEX:02h 30h 31h 15h 32h 03h

&A1 | ASCII: STXOIWHOL ETX Bjte
HEX : 02h 30h 31h 57h 48h 4Fh 4Ch 03h
&A1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
X4 | ASCII: STX 01 ACK 0 ETX
e HEX : 02h 30h 31h 06h 30h 03h 6
AL STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
& | ASCII: STX 01 NAK 2 ETX
HEX : 02h 30h 31h 15h 32h 03h
=c A
&Al STX(1) ID(2) WHRS(4) 8 (2) ETX(1)
&A1 | ASCII: STXOIWHRS ETX °
HEX : 02h 30h 31h 57h 48h 52h 53h 03h oyt
&A1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
HA | ASCII: STX 01 ACK 0 ETX
e HEX : 02h 30h 31h 06h 30h 03h 6
&A1 STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
RF | ASCII: STX 01 NAK 2 ETX
HEX : 02h 30h 31h 15h 32h 03h
o2 E
AL STX(1) ID(2) WPRT(4) ETX(1)
&A1 | ASCII: STXOIWPRT ETX Bjte
HEX : 02h 30h 31h 57h 50h 52h 54h 03h
&4 1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
4 | ASCII: STX 01 ACK 0 ETX
oo HEX : 02h 30h 31h 06h 30h 03h 6
= &AL STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
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A7 DRIE

(o3

44| 1 STX(1) ID(2) WSPR(4) ETX(1)

0!

2F | ASCII: STX01 NAK 2 ETX
HEX:02h 30h 31h 15h 32h 03h

&AM | ASCII: STXO1IWSPR ETX °
HEX : 02h 30h 31h 57h 53h 50h 52h 03h oyt
&A1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
X4 | ASCII: STX 01 ACK 0 ETX
e HEX : 02h 30h 31h 06h 30h 03h 6
AL STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
& | ASCII: STX 01 NAK 2 ETX
HEX : 02h 30h 31h 15h 32h 03h
A7 AH|
&AlSTX(1) ID(2) WSTC(4) ETX(1)
&4 | ASCII: STXOLWSTC ETX °
HEX : 02h 30h 31h 57h 53h 54h 43h 03h oyt
&A1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
HA+ | ASCII: STX01 ACK 0 ETX
e HEX : 02h 30h 31h 06h 30h 03h 6
&A1 STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
RF | ASCII: STX 01 NAK 2 ETX
HEX : 02h 30h 31h 15h 32h 03h
&7 n2lE
AL STX(1) ID(2) WGPR(4) ETX(1)
&A1 | ASCII: STXOIWGPR ETX Bjte
HEX : 02h 30h 31h 57h 47h 50h 52h 03h
&4 1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
4 | ASCII: STX 01 ACK 0 ETX
oo HEX : 02h 30h 31h 06h 30h 03h 6
= &AL STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
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S A

(o3

44 1 STX(1) ID(2) WGTC(4) ETX(1)

0!

2F | ASCII: STX01 NAK 2 ETX
HEX:02h 30h 31h 15h 32h 03h

&4 | ASCII: STX01WGTC ETX °
HEX : 02h 30h 31h 57h 47h 54h 43h 03h oyte
&A1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
X4 | ASCII: STX 01 ACK 0 ETX
- HEX : 02h 30h 31h 06h 30h 03h 6
AL STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
& | ASCII: STX 01 NAK 2 ETX
HEX : 02h 30h 31h 15h 32h 03h
AlZt 8H
AL STX(1) ID(2) WTIM(4) TIME(6) ETX(1) y
&A1 | ASCII: STX01WTIM123035 ETX
HEX : 02h 30h 31h 57h 54h 49h 4Dh 31h 32h 33h 30h 33h 35h 03h oyt
&A1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
HA+ | ASCII: STX01 ACK 0 ETX
et HEX : 02h 30h 31h 06h 30h 03h 6
&A1 STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
RF | ASCII: STX 01 NAK 2 ETX
HEX : 02h 30h 31h 15h 32h 03h
4
A1 STX(1) ID(2) WDAT(4) DATE(6) ETX(1
&A1 | ASCII: STX01WDAT171101 ETX B::e
HEX : 02h 30h 31h 57h 44h 41h 54h 31h 37h 31h 31h 30h 31h 03h
&4 1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
4 | ASCII: STX 01 ACK 0 ETX
oo HEX : 02h 30h 31h 06h 30h 03h 6
= &AL STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
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(o3

44| 1 STX(1) ID(2) WPNO(4) Et(2) ETX(1)

0!

2F | ASCII: STX01 NAK 2 ETX
HEX:02h 30h 31h 15h 32h 03h

&2 | ASCII: STXOIWPNO10 ETX Bt/(t)e
HEX : 02h 30h 31h 57h 50h 4Eh 4Fh 31h 30h 03h
&A1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
X4 | ASCII: STX 01 ACK 0 ETX
e HEX : 02h 30h 31h 06h 30h 03h 6
AL STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
2% | ASCII: STX 01 NAK 2 ETX
HEX : 02h 30h 31h 15h 32h 03h
SP1 MF
&4l STX(1) ID(2) WSP1(4) SP1AEZH(6) ETX(1) y
&AM | ASCII: STX01WSP1012345 ETX
HEX : 02h 30h 31h 57h 53h 50h 31h 30h 31h 32h 33h 34h 35h 03h oyt
&A1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
HA | ASCII: STX 01 ACK 0 ETX
e HEX : 02h 30h 31h 06h 30h 03h 6
&A1 STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
RF | ASCII: STX 01 NAK 2 ETX
HEX : 02h 30h 31h 15h 32h 03h
SP2 MF
&AL STX(1) ID(2) WSP2(4) SP2AHZE(6) ETX(1)
&A1 | ASCII: STX 01WSP2012345 ETX B:;e
HEX : 02h 30h 31h 57h 53h 50h 32h 30h 31h 32h 33h 34h 35h 03h
&4 1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
4 | ASCII: STX 01 ACK 0 ETX
oo HEX : 02h 30h 31h 06h 30h 03h 6
= &AL STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
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SP3 #%F

(o3

4] 1 STX(1) ID(2) WSP3(4) SP3E&Zt(6) ETX(1)

0!

Q2F | ASCII: STX01 NAK 2 ETX
HEX:02h 30h 31h 15h 32h 03h

&A1 | ASCII: STX01WSP3012345 ETX H
HEX : 02h 30h 31h 57h 53h 50h 33h 30h 31h 32h 33h 34h 35h 03h oyt
&A1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
X4 | ASCII: STX 01 ACK 0 ETX
e HEX : 02h 30h 31h 06h 30h 03h 6
AL STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
& | ASCII: STX 01 NAK 2 ETX
HEX : 02h 30h 31h 15h 32h 03h
SP4 MF
&4l STX(1) ID(2) WSP4(4) SP4AMEEZE(6) ETX(1) y
&AM | ASCII: STX 01WSP4012345 ETX
HEX : 02h 30h 31h 57h 53h 50h 34h 30h 31h 32h 33h 34h 35h 03h oyt
&A1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
HA | ASCII: STX 01 ACK 0 ETX
e HEX : 02h 30h 31h 06h 30h 03h 6
&A1 STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
RF | ASCII: STX 01 NAK 2 ETX
HEX : 02h 30h 31h 15h 32h 03h
SP1,2,3,4 MH
Y4l . STX(1) ID(2) WSPA(4) SP1MHZi(6) SP2AAZL(6) SP3MXZH(6)
SP44E3k(6) ETX(1) .
&A1 | ASCII: STX 01WSPA012345012345012345012345 ETX Byt
HEX : 02h 30h 31h 57h 53h 50h 41h 30h 31h 32h 33h 34h 35h 30h 31h 32h 33h
34h 35h 30h 31h 32h 33h 34h 35h 30h 31h 32h 33h 34h 35h 03h
&4 1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
HAb | ASCII: STX 01 ACK 0 ETX
oo HEX : 02h 30h 31h 06h 30h 03h 6
SH
&4 1 STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
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II_-lx-” AE'IIO-IDI- M

=H
Al STX(1) ID(2) WFTD(4) =
SPAEEZL(6) ETX(1)

H(2) SP1EXZL(6) SP2EH2k(6) SP3HEZL(6)

Q2F | ASCII: STX01 NAK 2 ETX
HEX:02h 30h 31h 15h 32h 03h

&A1 [ ASCII: STX01WFTD01012345012345012345012345 ETX 3
HEX : 02h 30h 31h 57h 46h 54h 44h 30h 31h 30h 31h 32h 33h 34h 35h 30h 31h oyt
32h 33h 34h 35h 30h 31h 32h 33h 34h 35h 30h 31h 32h 33h 34h 35h 03h
AL STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
HA+ | ASCII: STX01 ACK 0 ETX
oo HEX : 02h 30h 31h 06h 30h 03h 6
= &A1 STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
& | ASCII: STX 01 NAK 2 ETX
HEX : 02h 30h 31h 15h 32h 03h
28 A%
&AL STX(1) ID(2) WSTR(4) ETX(1) .
&A1 | ASCII: STXOIWSTR ETX
HEX : 02h 30h 31h 57h 53h 54h 52h 03h oyt
AL STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
HA | ASCII: STX01 ACK 0 ETX
oo HEX : 02h 30h 31h 06h 30h 03h 6
= &A1 STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
22 | ASCII: STX 01 NAK 2 ETX
HEX : 02h 30h 31h 15h 32h 03h
28 =X
AL STX(1) ID(2) WSTP(4) ETX(1) .
&A1 | ASCII: STXOIWSTP ETX
HEX : 02h 30h 31h 57h 53h 54h 50h 03h oyt
&4 1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
HAb | ASCII: STX 01 ACK 0 ETX
oo HEX : 02h 30h 31h 06h 30h 03h 6
=3
&4 1 STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
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SP1 Sk} MH

(o3

4] 1 STX(1) ID(2) WS1F(4) SP1=tXHE & 2L(6) ETX(1)

0!

2F | ASCII: STX01 NAK 2 ETX
HEX:02h 30h 31h 15h 32h 03h

&A1 | ASCII: STX01WS1F012345 ETX H
HEX : 02h 30h 31h 57h 53h 31h 46h 30h 31h 32h 33h 34h 35h 03h oyt
&A1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
X4 | ASCII: STX 01 ACK 0 ETX
e HEX : 02h 30h 31h 06h 30h 03h 6
AL STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
& | ASCII: STX 01 NAK 2 ETX
HEX : 02h 30h 31h 15h 32h 03h
SP2 Lkt M
&4 STX(1) ID(2) WS2F(4) SP2=tXH M2k (6) ETX(1) y
&A1 | ASCII: STX 01WS2F012345 ETX
HEX : 02h 30h 31h 57h 53h 32h 46h 30h 31h 32h 33h 34h 35h 03h oyt
&A1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
HA+ | ASCII: STX01 ACK 0 ETX
e HEX : 02h 30h 31h 06h 30h 03h 6
&A1 STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
RF | ASCII: STX 01 NAK 2 ETX
HEX : 02h 30h 31h 15h 32h 03h
SP3 Lk M
Al STX(1) ID(2) WS3F(4) SP3StXHEE ZH(6) ETX(1)
&A1 | ASCII: STX 01WS3F012345 ETX B::e
HEX : 02h 30h 31h 57h 53h 33h 46h 30h 31h 32h 33h 34h 35h 03h
&4 1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
4 | ASCII: STX 01 ACK 0 ETX
oo HEX : 02h 30h 31h 06h 30h 03h 6
= &AL STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
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SP4 HYxt 2%

B4l STX(1) ID(2) WS4F(4) SPAtAH B ZE(6) ETX(1) "
&4l | ASCII: STX 01WS4F012345 ETX yte
HEX : 02h 30h 31h 57h 53h 34h 46h 30h 31h 32h 33h 34h 35h 03h
344l 1 STX(1) ID(2) ACK(1) ERROR(1) ETX(1)
B | ASCII: STX 01 ACK 0 ETX
oo HEX : 02h 30h 31h 06h 30h 03h 6
34l STX(1) ID(2) NAK(1) ERROR(1) ETX(1) Byte
Q2 | ASCII: STX 01 NAK 2 ETX
HEX : 02h 30h 31h 15h 32h 03h

X CHECK SUM #|2F 4itH

M&o|Lt AT HO|E{E STXHEE ETXWX| HEX #2 BF Osta, 43t 2+S 10022
L LIHX]

o) B@O0| STX ID RCWT ETX & PCO|A &SRS d2 HEXE 02 30 31 52 43 57 54

03 o] 2F st 70| 1A6h L|Ct.

E$t 2kl 1A6hs 100h2 L5 FH (1A6h/100h) A[AHE Zho| LIHX|7} A6hQL|Ct.

O] Zt2 ASCIZ HE5I0 41(A) 36(6)2 2 HEEHL|LCL.

FUc mEoAol HEHE TTE2 02h(STX)E AlIZHHA 03h(ETX)22 L= OHo|EHE

7|Z22 06h (ACK)2t 15h (NAK), Error CodeS TCHslo| Z2igtL|Ct.
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7-3. Modbus
- RO : Read Only (247|H ),
- RW : Read Write (217],227])
- 2} B ABUS2 A 58 Y olY 4FEEIx| =Lt
ex) 2% 35.00kg €= Al 3500 (0xDAC) €™
- W S AIZE A2 6XIE|E U™ St A R.
ex) 2014E 1& 1 = Al 140101 (0x22345)
2% 3A 50=2 17x 2= A| 155017 (0x25D89)
- =, o2, EXIE €, 7[27], S+7= HR2E YHX[AEE HBESHHAIL
- BEHA Function Codes
‘03" (0x03) : Read Holding Registers
'04' (0x04) : Read Input Registers
'06' (0x06) : Write Single Registers
16" (0x10) : Write Multiple Registers
- CRC Check Method= CRC-16 L|C}.
7-3-1. =8 d[o|E ™
g =N o) &4
22 2K 191 OxBF 1 R
NS 194 0xC2 2 R
815 196 0xC4 2 R
7| e 8715 198 0xC6 2 R/W
5835 200 0xC8 2 R
ZEE3E 202 OxCA 2 R
CIER 204 0xCC 2 R
e 206 OxCE 2 R
ol 208 0xDO 2 R
HX SHO| AZEle 214 0xD6 2 R
Hx SO =HFT 216 0xD8 2 R
A 218 OxDA 2 R
SASFE 220 0xDC 2 R
=H 1 A= 222 OxDE 2 R
= 1 S35 224 OxEO 2 R
=H 2 AZsls 226 OxE2 2 R
=H 2 53 228 OxE4 2 R
=H50 AZES 418 Ox1A2 2 R
=50 FHEZY 420 Ox1A4 2 R
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LHE Fa 40| &4 LHE
422 0x1A6 2 R
424 0x1A8 2 R
426 OX1AA 1 R/W
] 429 0x1AD 1 R/W
Sd EH SP1 430 Ox1AE 2 R
Sx S SP2 432 0x1B0 2 R
Hx EH Sp3 434 0x1B2 2 R
x| EH Sp4 436 0x1B4 2 R
#x EH Spl 438 0x1B6 2 R
x| EH Sp2 440 0x1B8 2 R
Hx EH Sp3 422 0x1A6 2 R
Hxl EH Sp4 444 0x1BC 2 R
ZH 1SP1 446 Ox1BE 2 R/W
EH 1SP2 448 0x1C0 2 R/W
ZH 1SP3 450 0x1C2 2 R/W
ZH 1SP4 452 0x1C4 2 R/W
ZH 2 SP1 454 0x1C6 2 R/W
EH 2 SP2 456 0x1C8 2 R/W
EH 2 SP3 458 0x1CA 2 R/W
ZH 2 SP4 460 0x1CC 2 R/W
ZH 50 SP1 838 0x346 2 R/W
ZH 50 SP2 840 0x348 2 R/W
ZH 50 SP3 842 0x34A 2 R/W
EH 50 SP4 844 0x34C 2 R/W
ZEH 1Spl Xzt 846 0x34E 2 R/W
ZH ] Sp2 Xt 848 0x350 2 R/W
ZH ] Sp3 Xt 850 0x352 2 R/W
EH 1Sp4 Xt 852 0x354 2 R/W
Z4 50 Spl X3t 1238 0x4D6 2 R/W
Z 50 Sp2 X3t 1240 0x4D8 2 R/W
ZH 50 Sp3 X3t 1242 Ox4DA 2 R/W
EH 50 Sp4 =Kt 1244 0x4DC 2 R/W
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7-3-2. 2|2 Hojy o
1bit 2bit 3bit 4bit 5bit 6bit Tbit 8bit
IN 1 IN 2 IN 3 IN 4 IN5 IN 6
obit 10bit 11bit 12bit 13bit 14bit 15bit 16bit
7-3-3. ¥ Ojo[E ™
1bit 2bit 3bit 4bit 5bit 6bit Tbit 8bit
orH RagS 87| ==
obit 10bit 11bit 12bit 13bit 14bit 15bit 16bit
USB 2
17bit 18bit 19bit 20bit 21bit 22bit 23bit 24bit
OouT1 OouT2 ouT3 OouUT 4 OuUT5 ouUT6 ouTT7
25bit 26it 27bit 28bit 29bit 30bit 31bit 32bit
el k | Belg | Eelt
7-3-4. 7| HIOJE| H
0x01 0x02 0x03 0x04 0x05 0x06 0x07 0x08
ks g7l | =maE | == N
7|5 | ESPN
0x09 0x10 0x11 0x12 0x13 Ox14 0x15 0x16
NES; M|
7-3-5. ol[2] Hioje ™
1bit 2bit 3bit 4bit 5bit 6bit Tbit 8bit
AD ER OVER USB ERR
obit 10bit 11bit 12bit 13bit 14bit 15bit 16bit
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B ¥Alg SE7200, SE7300

AFEIH T SIsE OIAf QFAl

= -

S} 2011-05-10 DATE : 2011-05-10

A|ZE: 18:00:10 TIME : 18:00:10

o4 ol H|HS - 1 ID No : 1
| =y 2y =2 ID PART SERIAL WEIGHT

121-00 1 10 1 1.330kg 1 10 1 1.330kg
1 10 2 5.350kg 1 10 2 5.350kg

1 10 3 2.358kg 1 10 3 2.358kg

S 2011-05-10 DATE : 2011-05-10

o2 ol AIZE 18:00:10 TIME : 18:00:10
(2712 HH EH ¥ EZTY ID PART SERIAL GROSS WEIGHT
S04, 27|z azaf TARE WEIGHT ~ NET WEIGHT
01 01 1 3.000 kg 01 01 1 3.000 kg

25T EA) 1.501 kg 1.499 kg 1501 kg 1499 kg
01 01 2 3.024 kg 01 01 2 3.024 kg

121-01 1.501 kg 1.523 kg 1.501 kg 1.523 kg
01 01 3 3.039 kg 01 01 3 3.039 kg

1.501 kg 1.538 kg 1.501 kg 1.538 kg

ELE 2011-05-10 DATE : 2011-05-10

A ZE: 18:00:10 TIME : 18:00:10

FH[HZ - 1 ID No : 1

121-02

o B4 =¥ BT
1 10 1 1.330kg

=L 2011-05-10
AlZE: 18:00:10
HHHS . 1

o B¥ =¥ ¥
1 10 2 5.350kg

ID PART SERIAL WEIGHT
1 10 1 1.330kg

DATE : 2011-05-10
TIME : 13:00:10
ID No : 1

ID PART SERIAL WEIGHT
1 10 2 5.350kg

L 2011-05-10
A|ZF 18:00:10
HH B2YH =  FEE
g_jlﬂ- _alt_%‘:;a
01 01 1 3.000 kg
1.501 kg 1.499 kg

DATE : 2011-05-10
TIME : 18:00:10

ID PART SERIAL GROSS WEIGHT
TARE WEIGHT  NET WEIGHT
01 01 1 3.000 kg
1.501 kg 1.499 kg
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L 2018-07-16 DATE : 2018-07-16

A ZE: 15:40:16 TIME : 15:40:16

| 1 ID: 1

Ed 1 PART : 1

= . 1 SERIAL : 1

e 2.99 kg GROSS WEIGHT : 2.99 kg

2715 1.00 kg TARE WEIGHT : 1.00 kg

=5 1.99 kg NET WEIGHT : 1.99 kg

E5 I TOTAL

= 2011-05-10 DATE : 2011-05-10

AlZE: 18:00:10 TIME : 18:00:10

JHE= 1 ID No : 1

=

= -] e 9 PART SERIAL WEIGHT
malE 1 15 105.21kg 1 15 105.21kg
== 2 21 172.92kg 2 27 172.92kg
49 13 10821kg 49 13 10521kg
50 27 172329 50 21  172.9%g

FUIFHL: 143
TOTAL COUNT : 143
FUTE - 700.35kg

TOTAL WEIGHT : 700_35kg

Uy

W re

12 28K ol =H 12 W= 22
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7-5. loJe A& EX|(USB HZZ|
7-5-1. HIO|E] K& =X|(USB M2

7lsM™ 1029 HFo| mat Fxlof dste W8 FFS NMESts AX|QLIC
USB H|22|= BI=A| MBR, FAT16 &= FAT322 MHEE|0] Qo{of BHL|CH,
1) 322 M e (T N+ MM =t (ex : N160114)
71sMH 1029 MFE LHECOR SD HZE[FtE0| AYE FHUS NMNILLICL
DATE TIME ID PA | SERI SP1 | SP2 | SP3 | SP4 GROSS TARE NET ON
RT AL WEIGHT | WEIGHT | WEIGHT IT
2016-01-01 |12:18:04 | 1 | 1 1 | 100|200 | 300 | 400 | 200 20 180 kg
2016-01-01 |12:18:10 | 1 | 1 2 | 100 | 200 | 300 | 400 | 100 10 90 kg
2016-01-01 | 12:1810 | 1 | 1 | 3 |100 | 200 | 300 | 400 | 300 5 295 | kg
2) 2 S HE UHE (WLY: S+ MH=E D) (ex: S160114)
A ZZIE UHA| ZASYS SDILEO| MEFLICE
DATE TIME ID | PART | SUBTOTAL COUNT SUB TOTAL WEIGHT | UNIT
2016-01-01 | 12:00:30 | 1 1 10 6000 kg
2016-01-01 | 12:00:30 | 1 2 10 5000 kg
3) 34 AU MF UE (MUY T+ HHE Iut)(ex: T160114)
DATE TIME TOTAL COUNT TOTAL WEIGHT UNIT
2016-01-01 12:27:30 17 4620 kg
ID PART NO. SUB TOTAL COUNT SUB TOTAL WEIGHT UNIT
1 1 5 1207 kg
1 2 8 2383 kg
1 3 2 506 kg
1 4 2 524 kg
A - USB W22 80| st ooz U J|Zio] SHHM TAS Wl T o

oF=Al7| HEEfLICE

USBE PCOI| &}

0|s4| CjA3 E20|E

FAT32E M=
UL USB 0|

o
S
=
A

=~

Al A

o=zl
T== v

210l A
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8-4.

Hello] gololE

1)

3)
4)

FAT322 ZBUEl USBO| UCIOIE & bin Il 0|E2 update.bin2 HZESI0 E&
LTt
QUCIAOIEIS| RO THE e M HHO| FATF|E +E JEOM HES ATFeILICH

¥ XIQlo| E|X| YoM 2 IS HiETHL|Ct

= .
HOLD, RUN, TX, RX2| Z7} SAl0f EESHH USBE HARLICH
Hse2 MEEo| Lot

U USB 0S4 XEEAE SEA 2Rt LM 2+ AL

=
TARE BI7} X/ USB E& YHI0IE THUS S01Z 28 HFE =t
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